@Fino\ the gwvadient of scalay funclion 4700‘3) =4:C+\j?'.

-t 20 e

e Cer s TR ¢
ADE L 3 oF
vE = ?%—f-&i—:&;*“bz g )
D (x+q) e (x:-h{)-\-\c Ce+yY

- 1 (1+0) +3 (0+1‘a‘> ro

?-F: ?-\")—‘33

e

@ find the gvadient of scalay field fOY)= 2x+32

e A
v 2 ia B in B
e T o+ Or
v{ e i <= : :
» 2 0 Czac+31)+\<——-(zx+s‘z
SR

g 4 (el wE K (0+3)

"{}{.:d? y 3K

by D¥. Sawtosh Mani




® If ¢-= 98'*5\23-\? Xy z*. Find Vo ot (13,2
oD bty D
. 3 > @3‘”"52
5. 129 4320 .38
?q‘D—; !-%%C+J'—1%+K 02
b 3 2 2 ;
8% . 2 (atyPaxy?)
oK »
ae T ,2)
LA g i g
STl | -
"_5__(_?_ = ‘I’Lza-\-’x(dzz —/—/?@
L)) ?"zi)
B8 DY
- 02
(12 2 oy
20 _ 3%1‘32 yexy 2
02 A 17-23_\.2%‘3;)

Pyv-Santoch Man




' €
@ 'piﬂd the gTO\dl.el\"' OP SCa\qx -ﬁfdd Cp: ol 8 D.yl

Tetliale wp
'7“'?:::35 =

0 s 98
745: 'Bd>+ }bg 2

. ' Sl
N D Pl R (ML%)
vcp,_?%(ww”%s(“a ,

| »0
7= (Ho)-u(0+w)+o ‘

V¢ v+43J

@ .@incl HSe Ca‘o'acjien'}‘ OP séa\ar @\“elcp

¢ = 1Yy*4z
e
g 2 1
g o S T
Vo= T%——i—u "—“,,*“ 22
o D Qd"-nz)
BT o
2 w0 comne
6k« il
26 _ D (y4r+>)
T B A
o ,L)“ ) (x{‘)
PO o L(REL W

Dx.gaﬁlmk Mani




o
L

5 ‘ th

= .5; CHL +7_7_),

W - H )
ol

- D) @

o

9 IS 3|

’B ST PR
. HeE Q’-+219 th
2

74 Mg ik AE=t

' X . 2
The d’\teaﬁona, deT\\IQTTUQ -010- ¢='>C 2—+zx"a
point CL1=F) s the direchon 0-@

©

@) Caleulate
+ ‘67} at the

- _\_‘\e \I‘QC.'\-O'( _A—"-': 9.?4‘33\" L\‘K\‘

The divectional devivative . _
Bakly e
ds ' L3 1 4 ".@-LDC’Z"'QIK—‘-%Z
V4= 1o CTE i
v 2 (st eoxf 442
e
. L)

7¢ s T.(‘Z‘I'Z "'2\31)* ) (418 +z’—> +K( -

i s | |
i Dy. Sastosh Mani




fvom © ® and ®, we gef
d ‘ A " a " - .
"—é =(_L'> (2' ""3) -L\.KA) o(él +9) -—3‘:)

d; ALY’
34 . s
&5 154

@ Find the d}ved-\‘onal. dexwalive of +he funchion
‘Q = 3 ')cl . g‘a?‘ | ot +he POi(\'\ L2 3) a\ong I—d:\’%
iEe Y 2

s e gt ~ B oraated )
v{-= \-6—{(3‘* "»“d)'” 5 q

Al .7——?2—
ot (>x '5)

F4- f(ex-0) B

7{:* ! of +3_Q£+£.§£

0 - 6'-3’) -\-2 (O ’O)

el «b : ‘ »
7§ 6% ™ 63 $ """’"’5’@
. The d.irep’tioﬂu‘ devivalive in the - ditec‘\'on I8

19 = 1) - ewi]

6 C

-
4
=

W

Dy Qaritosh Mani




It A= 'xz'é 1 —xazj.;_%zzﬁ)dg’\é'cm'me VA

v be) .
Lo s apa s BLTR Ky Agd R
T A = [' %“ 25 37] 5 ] )
Vi Pt m :
<=3 D (Y + 0. (-xy2) * %C'dz)
S

@ Rind +the divevgence of pré 41%23‘ }zE
at (3%2)

R o D% 4 0% Ol

VN =

' o oY 'Dz_

stea BV LS 40 (13 + LZ)
vt e

TN =R

Dy Santoch Man;




. l:mc) .d\\rwﬂencg O(: DC?."‘ +3L:]\ 5 A
°+ (QJ "3) s

=2Lx+~5+r.)
T.F =22+ -3)
- ?‘? :_2 .
®I" W’-’(‘é“ " z)!-\-(x -\-'3 )3-1"«6:\:

TxA = e zxaz-\-zx"'z).)
-\-Qx- l-\-f) v
At C,3-2) |
7 XA = z'\\'—s_;-\o“\\g

. b Sartoch Mani




yxt x
A e £
T 2
. Ak A L
3
&-9) st
] | | . \
o A a0 ) Cow) K
T XF = (O-‘O-)l - (1x-0)J +
~ A,
TXF = -4 1 -2X ) YK
' ~ -~ S
() Find el of F= ot NI =
1o 13 X 1 _
i = |2 - 2
\%x‘l 22 — &

~ Dv- Savtoch Man




